29. There were 71 orangutans on the playground.
56 were on the monkey bars.
The rest were waiting for a turn.
How many orangutans were waiting?

There were orangutans waiting.
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30. The Fantastic French Fries Football
team has 97 players. 88 wore helmets.
The rest had to wear party hats.

How many players wore party hats?

players wore party hats.
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31. 82 bears went shopping at the mall.
Only 27 bought something. The rest
just looked. How many bears did not
buy anything?

bears did not buy anything.
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32. 60 sea monkeys went to see a Miami Dolphins football
game. 38 of them got a seat. The rest had to stand.
How many sea monkeys had to stand?

sea monkeys had to stand.
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